% %‘ .&, % P Multiplier les nombres décimaux par des puissances
“-ﬁ de dix

Nom: Date: Note: _
6,344 x 100 = 6,418 x 1000000 =
8,409 x 100000 = 3,704 x 1000 =
5,179 x 10000 = 7,196 x 100000 =
10, 714 x 100 = 3,492 x 100 =
3,23 x 100 = 3,136 x 10000 =
9,01 x 1000000 = 4,062 x 100000 =
5,037 x 100 = 10, 177 * 1000000 =
1,409 x 100000 = 6,309 x 1000000 =
8,423 x 10 = 8, 525 x 1000000 =
8,001 x 10000 = 8,025 x 10000 =

www.snowmath.com


https://www.snowmath.com

LY . Multiplier les nombres décimaux par des puissances
SE g @ g2 de dix

Nom: Date: Note:
6,344 x 100 = 634.4 6,418 x 1000000 = 6418000
8,409 x 100000 = 840900 3,704 x 1000 = 3704
5,179 x 10000 = 51790 7, 196 x 100000 = 719600
10,714 x 100 = 1071.4 3,492 x 100 = 349.2
3,23 x 100 = 323 3,136 x 10000 = 31360
9,01 x 1000000 = 9010000 4,062 x 100000 = 406200
5,037 x 100 = 503.7 10, 177 x 1000000 = 10177000
1,409 x 100000 = 140900 6, 309 x 1000000 = 6309000
8,423 x 10 = 84.23 8, 525 x 1000000 = 8525000
8,001 x 10000 = 80010 8,025 x 10000 = 80250
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